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Question 8

8 A light rod has a coil of insulated copper wire fixed at one end and is pivoted at the other
end. The result is a pendulum which is free to swing back and forth. A magnet is placed
underneath this pendulum. The arrangement is shown in the diagram.
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The pendulum is pulled back and then allowed to swing. Which of the following would
cause the pendulum to come to rest most quickly?

(A) Replacing the magnet with a stronger one

(B) Shortening the pendulum

(C) Replacing the rod with a heavier one

(D) Connecting the ends of the coil by a piece of copper wire

Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A | 35 39.9 435 39.3 335
B 222 15.5 9.7 6.7 24
c 9.4 2.7 1 0.6 0
D 33.3 41.8 45.8 53.4 64.1
N 0 0 0 0 0
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Band 12 Band 253 Band 344 Band 45 Band 56

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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